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09/05/22 sg01igrt59787_35.ppp_defaut−107d−15_X−stp

1

Following steps removed:

59788.42014 : Step 1 −361200 ns
2 59788.42535 : Step 2 653800 ns
3

59788.42882 : Step 3 −345900 ns

4

59788.43229 : Step 4 −345900 ns

5

59788.43576 : Step 5 654200 ns

6

59788.43924 : Step 6 −345600 ns

7

59788.44271 : Step 7 −345400 ns

8

59788.44618 : Step 8 654600 ns

9

59788.44965 : Step 9 −345400 ns

10

59788.45313 : Step 10 −345300 ns
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328 s: Mdev= 0.13102E−10 Tdev= 2482 ps
656 s: Mdev= 0.67067E−11 Tdev= 2541 ps
1312 s: Mdev= 0.42193E−11 Tdev= 3197 ps
2625 s: Mdev= 0.33062E−11 Tdev= 5010 ps
5249 s: Mdev= 0.23542E−11 Tdev= 7135 ps
10498 s: Mdev= 0.17768E−11 Tdev= 10770 ps
20997 s: Mdev= 0.86613E−12 Tdev= 10500 ps
41993 s: Mdev= 0.51048E−12 Tdev= 12377 ps
83987 s: Mdev= 0.35609E−12 Tdev= 17267 ps
167973 s: Mdev= 0.19741E−12 Tdev= 19144 ps
335946 s: Mdev= 0.53572E−13 Tdev= 10391 ps
671893 s: Mdev= 0.23435E−13 Tdev= 9091 ps
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